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Real Exam Questions! 100% 300-360 Exam Pass Guaranteed! 1.|2017 New 300-360 Exam Dumps (PDF & VCE) 72Q&As

Download:https://www.braindump2go.com/300-360.html 2.|2017 New 300-360 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNaFhjTjl4Uk0tbDg?usp=sharing QUESTION 31After the completion of a

site survey with Ekahau Site Survey tool, using the default color palette, it is noted that multiple areas are shown as white on the heat

map when viewing 5 GHz signal strength data. What does this indicate about the signal strength? A.    The area is below the

minimum threshold configured on the tool.B.    The area is below the detectable level and indicates no RF signal.C.    The area is

below -100 dBm at coverage cell edge.D.    The area is below -67 dBm at coverage cell edge. Answer: A QUESTION 32An

engineer must design wireless coverage in thick-walled stairwells. Which information should the engineer refer to when determining

where APs can be installed? A.    Local or National Building CodeB.    IEEEC.    BICSI TDMMD.    Cisco Hardware Installation

Guide Answer: D QUESTION 33An engineer is performing a predictive wireless design for a medical treatment environment, which

requires data and voice services. Which of the following is a requirement for the design? A.    overlapping -72 dBm coverage from

two access pointsB.    overlapping -67 dBm coverage from two access pointsC.    continuous -67 dBm coverage from one access

pointD.    continuous -72 dBm coverage from one access point Answer: C QUESTION 34A network engineer is preparing for an

office site survey with a height of 2.5 meters. Which three components are recommended to complete the survey? (Choose three.) A.

   Use APs with external antennas.B.    Use DoS attack on APs while measuring the throughput.C.    Use APs with built-in antennas.

D.    Use a battery pack to power APs.E.    Use a drawing of the office space to draw AP and client placements.F.    Use APs with

directional antennas. Answer: CDE QUESTION 35An engineer is planning for a 24 Mbps data rate for a new installation. What is

the coverage area from the AP if the environment and other factors are not taken into consideration? A.    225 feetB.    80 feetC.   

150 feetD.    100 feet Answer: D QUESTION 36Which two options describe best practices that must be completed after a wireless

installation is finished? (Choose two.) A.    Make sure that there are no spaces between the devices on the rack that the Wireless Lan

Controller isinstalled.B.    Consult with the customer to ensure that the IT staff has a complete set of design and

installationdocuments.C.    Make sure the customer is aware that they should consider purchasing a support contract immediately

afterthe installation is complete.D.    Spend time with the customer to show them the controller GUI and inform them how they can

reach theCisco TAC if they have any problems.E.    Test all the customer's wireless devices and applications to ensure they are

working properly. Answer: BE QUESTION 37A customer is deploying a Greenfield 802.11ac network on a floor that will support

approximately 300 wireless devices. Which setting needs to be changed on Prime Infrastructure Planning Tool in order to predict the

amount of access points the customer needs to service the new floor? A.    Data Coverage Support MarginB.    Demand SettingsC.   

Add AP FieldD.    802.11n Protocol Support Answer: BExplanation:

http://www.cisco.com/c/en/us/td/docs/wireless/prime_infrastructure/1- 2/configuration/guide/pi_12_cg/maps.html#pgfId-1671104

QUESTION 38What is the recommended minimum speed at the edge of the cells in an 802.11g network for a good Cisco VoWLAN

deployment? A.    11 Mb/sB.    36 Mb/sC.    12 Mb/sD.    18 Mb/s Answer: C QUESTION 39An engineer is conducting a location

readiness test and wants a selected point to be considered location-ready. Which three possible configurations reflect the minimum

number of APs needed? (Choose three.) A.    One AP is resident in each quadrant surrounding the point-in-question.B.    One AP per

1400 sq. ft. on the map.C.    Two APs are resident in each quadrant surrounding the point-in- question.D.    Four APs are deployed

on the floor.E.    Three APs are within 70 feet (21 meters) of the point-in- questionF.    Three APs are deployed on the floor.

Answer: ADE QUESTION 40A network engineer is configuring QoS with a DSCP value of 46. To which queue must the CoS be

mapped for priority queuing of the voice frames? A.    1B.    2C.    5D.    4E.    3 Answer: C   !!!RECOMMEND!!!1.|2017 New

300-360 Exam Dumps (PDF & VCE) 72Q&As Download:https://www.braindump2go.com/300-360.html 2.|2017 New 300-360

Study Guide Video: YouTube Video: YouTube.com/watch?v=a9bLvd7xpPE
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